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2014 Latest Pass4sure&Lead2pass Juniper JN0-370 Exam Questions

	Vendor: JuniperExam Code: JN0-370Exam Name: QFabric, Specialist (JNCIS-QF) QUESTION 1Node devices provide which

three connectivity functions on QFabric systems? (Choose three.)  A.    Connect to serversB.    Connect to Director groupsC.   

Connect to storage devicesD.    Connect to external networksE.    Connect to redundant server Node groups  Answer: ACD 

QUESTION 2Which three improvements does the QFabric system provide over legacy data center environments? (Choose three.) 

A.    Tiered network architectureB.    Dedicated networks for data and storageC.    Improved scalabilityD.    Efficient use of

resourcesE.    Decreased latency  Answer: CDE  QUESTION 3Director devices within a QFabric system provide which three

redundant hardware components? (Choose three.)  A.    Redundant line cardsB.    Redundant hard drivesC.    Redundant

transceiversD.    Redundant power suppliesE.    Redundant fans  Answer: BDE  QUESTION 4Which two Juniper switch models

would you use as Node device components of a QFabric system? (Choose two.)  A.    OFX3100B.    QFX3500C.    QFX3008D.   

QFX3600  Answer: BD  QUESTION 5A QFX3000-G QFabric system supports up to how many Interconnect devices?  A.    1B.   

2C.    4D.    8  Answer: C  QUESTION 6Referring to the output shown in the exhibit, which two statements are correct? (Choose

two.) Click the Exhibit to view.  

  A.    The system has IGMP snooping enabled.B.    The Node device has ports as members of all VLANs in the system

configured.C.    The Node device has a receiver for the multicast group.D.    All of the Node devices in this system have receivers in

the multicast group.  Answer: AC  QUESTION 7A customer wants to upgrade an existing data center to use a QFabric system. What

are two primary benefits for doing this? (Choose two.)  A.    The QFabric system improves scalability.B.    The QFabric system can

support a maximum of 500 10 GbE ports.C.    The QFabric system is energy efficient.D.    The QFabric system improves the

performance of the Spanning Tree Protocol (STP).  Answer: AC  QUESTION 8Which two interface naming conventions are correct

for QFabric systems? (Choose two.)  A.    xe-0/0/3B.    node0: xe-0/0/3C.    ge-0/0/3D.    P3603-C:xe-0/0/3  Answer: BD 

QUESTION 9You are preparing to perform the initial setup of the Director group. How many IP addresses are required for the

management network?  A.    1B.    2C.    3D.    4  Answer: C  QUESTION 10Which two groups in a QFabric system support link

aggregation interfaces? (Choose two.)  A.    Server name groupB.    Director groupC.    Network Node groupD.    Redundant server

Node group  Answer: CD  If you want to pass Juniper JN0-370 successfully, donot missing to read latest lead2pass Juniper JN0-370

exam questions.If you can master all lead2pass questions you will able to pass 100% guaranteed.  
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